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: R 3 2018 H T AISHT & 1 7, T8 R (A) Te:
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COS X COS X
A
3 pi2y i 2y —1
C Sin X
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assembly or main
htly together and no

ble In

10/2019 (02, 07, 21, 28
Freferfa o @ - um awy g o
arefferror o fersag e o wfang % 7

(A) a9 ufaarer

(B) wdrger ulerare

(C) wyaa uldarer

(D) 3rgwyur yfeare

67. WM Ageara A wETATA HEHA 2

68. Ti=iferfiaa o & & —w wfaam Awng= fags
g goft § anfds =9 4 fuzzl & v
USTTR 3R Srefores wearEi & 10% & ATET
g T 2 7
(A) 112 97 gungd 99T
(B) 124 3T @3nyd fagg=

(C) 122 av@smys agas

(

D) 3I9ddd | | hIg 721

69. Trpr Sfa ufig goen 1 A Foreral 2
(A) 74% (B) 68%
(C) 72% (D) 52.4%




ade by a manufacturer
proaducts conform to a
ications and standards

Select the sen

from the follo
78. (A) €
(B)
(C)
(D)
Add suitab
79. la
(A
(B
(C
(L
Fill in the

80.

Q
-

(
y
(



;!J

o | 000 T 0O 0 QT (T

|
{

] =nalish Langygge 10/2019 (02, 07, 21, 2¢,

cind out the err Oneous pan Choose the abstract noun from the sentence -
& :

q. - fth | |
sentence : 9 fC'llfi:'\e‘\nng 81. He spent his childhood in Mumbai_
77. ‘Unless one ie | G
i ae C) Childhood
T 37T T (A) is Intelligent 'H
, Mumbai
Al 8 7 (B) unless one s i
(C) was taught Fill in the blank with appropriate modal : \
(D) nothing 82. | ~___ doit, whatever happens.
— :
A) might
Select the s e (
omitel enténce Which is grammatically correct (B) may
, r e Tollowing sentences (C) shall
STl
(D) will

78. (A) She had gone to the party : last night
B .
(B) I'had been to Bangalore two months | Select the appropriate option for the underlined
ago - i
3 word in the question from the given options -

(C) She went to the pictures day before

yesterday
(D) Ameer went to Goa herself promoted.

(A) noun
Add suitable question tag for the following (B) verb

79. | am her child, . (C) subject

(A) amn’t|? -(D) pronoun
?
(g) am | t.l . Choose the correct verb from the options 10 fill
aren't |
(C) in the blank :
(D) arel?

84. In the next few years, thousands of speed
on major roads.

Fill in the blank with article : e o
80. Sydneyis____ peautiful city. {A) will appear
(A) a (B) appearing
AB) the (C) are appear
(C) not needed (D) none of the above
(D) an
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